1) The following table shows the percentage (36) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Adult population of City C is

1. 67452
2. 68264
3. 66266
4. 69268
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1.67452

2.68264

3.66266

4.69268

[Question ID = 10224][Question Description = 101_0_GP20_SEP22_S2_QO01]
1. 1 [Option ID = 10893]
2. 2 [Option ID = 10894]
3. 3 [Option ID = 10895]
4. 4 [Option ID = 10896]



2) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Population of City A as a percentage of population of City D is, approximately:

1.118%
2. 124%
3. 125%
4 127%
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C [84% 73%

D [18.9% 75%
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A TE D FEE D Vel @) e & Uyt o Hiagd 8 7

1:118%
2.124%
3:125%
4.127%

[Question ID = 10225][Question Description = 102_0_GP20_SEP22_S2_Q02]
1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898]
3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900]



3) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

MNen-adult population of City F is

1.33448
2.32040
3.30162
4.31416
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[Question ID = 10226][Question Description = 103_0_GP20_SEP22_S2_Q03]
1. 1 [Option ID = 10901]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10904]



4) The following table shows the percentage (36) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B8%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Adult population of City B and City C together as a percentage of the population of all six cities together
is, approximately

1. 18%
2.21%
3.25%
4. 27%
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1. 18%
2.21%
3.25%
4, 27%

[Question ID = 10227][Question Description = 104_0_GP20_SEP22_S2_Q04]
1. 1 [Option ID = 10905]
2. 2 [Option ID = 10906]
3. 3 [Option ID = 10907]
4. 4 [Option ID = 10908]



5) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B j21.6% 68%
C |84% 73%
b |18.9% 75%
E |17.5% b69%
F o [10.2% 72%
Population of City D is approximately _____ more than the population of City E.
1.8%
2.10%
3.14%
4.16%
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1.8%
2.10%
3. 14%
4.16%

[Question ID = 10228][Question Description = 105_0_GP20_SEP22_S2_Q05]
1. 1 [Option ID = 10909]
2. 2 [Option ID = 10910]
3. 3 [Option ID = 10911]
4. 4 [Option ID = 10912]

Topic:- 13_GP_SH1_Set2_B



1)

In the Four-Quadrant format of MQOCs, which of the following facilitates interactions amongst learners
and course coordinators?

1. Videos

2. Assessments

3. Reading material
4, Discussion forum
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1. fafsan

2, gedid
3, UT3d |HUl
4, 9l d9g

[Question ID = 10229][Question Description = 106_0_GP20_SEP22_S2_Q06]
1. 1 [Option ID = 10913]
2. 2 [Option ID = 10914]
3. 3 [Option ID = 10915]
4. 4 [Option ID = 10916]

2)
Which of the following is & graphical tool for organising and reprezenting knowledge?

1. Concept maps
2, Lesson plan

3, Summary

4, Diagram
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[Question ID = 10230][Question Description = 107_0_GP20_SEP22_S2_Q07]
1. 1 [Option ID = 10917]
2. 2 [Option ID = 10918]
3. 3 [Option ID = 10919]
4. 4 [Option ID = 10920]

3)
Which of the following is a learner-centered method?

1. Inquiry approach

2, Lecture method

3, Demonstration method
4, Team teaching
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[Question ID = 10231][Question Description = 108_0_GP20_SEP22_S2_Q08]
1. 1 [Option ID = 10921]
2. 2 [Option ID = 10922]
3. 3 [Option ID = 10923]
4. 4 [Option ID = 10924]

4)
A teacher can have a satisfying teaching profession when s/he

1.is more gualified than his/ her colleagues.
2, isclose to higher authorities,

3, has good control over the students,

4, commands respect from the students,
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[Question ID = 10232][Question Description = 109_0_GP20_SEP22_S2_Q09]
1. 1 [Option ID = 10925]
2. 2 [Option ID = 10926]
3. 3 [Option ID = 10927]
4. 4 [Option ID = 10928]

5)
Which of the following scales of measurement isssynonymous to ranking or grading?

1. Neminal scale
2, Ordinal scale

3. Interval Scale
4, Ratio Scale
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[Question ID = 10233][Question Description = 110_0_GP20_SEP22_S2_Q10]
1. 1 [Option ID = 10929]
2. 2 [Option ID = 10930]
3. 3 [Option ID = 10931]
4. 4 [Option ID = 10932]



6)
Population census can be an example of

1. Historical Study

2, Case Study

3, Longitudinal Study
4, Experimental Study
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[Question ID = 10234][Question Description = 111_0_GP20_SEP22_S2_Q11]
1. 1 [Option ID = 10933]
2. 2 [Option ID = 10934]
3. 3 [Option ID = 10935]
4. 4 [Option ID = 10936]

7)
An analysis of the subject’s life for meaning has the focus of

1. Structuralism

2, Pragmatism

3. Sociology

4, Phenemenology
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1. BLg919E
2, dgTpaag
3, GHTANGE
4, TEOHEANasH

[Question ID = 10235][Question Description = 112_0_GP20_SEP22_S2_Q12]
1. 1 [Option ID = 10937]
2. 2 [Option ID = 10938]
3. 3 [Option ID = 10939]
4. 4 [Option ID = 10940]



8)
Which of the following are the characteristics of case study research?

A, Itis simulated in a laboratory.

B, It is particularistic.

C. It is descriptive.

D. It-is inductive.

E it is disruptive.

Choose the correct answer from the options given below,

1.4, Band C only
2.B, Cand D only
3. C, D'and Eanly
4.4 BandEanly
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[Question ID = 10236][Question Description = 113_0_GP20_SEP22_S2_Q13]
1. 1 [Option ID = 10941]
2. 2 [Option ID = 10942]
3. 3 [Option ID = 10943]
4. 4 [Option ID = 10944]



9)
Which of the following are included in a research article?

A, Introduction

B, Data

C. Data analysis and results

D. Foreward

E. Letter ef recommendation

Choose the correct answer from the options given below;

1.4, Band C only
2.B, Cand D only
3. C, D'and Eanly
4.4 BandEanly
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4, FaAABARE

[Question ID = 10237][Question Description = 114_0_GP20_SEP22_S2_Q14]
1. 1 [Option ID = 10945]
2. 2 [Option ID = 10946]
3. 3 [Option ID = 10947]
4. 4[Option ID = 10948]

10)
Given below are two statements

Statement |: Exploratory research is conducted for data indications,
Statement II: The goal of exploratory research is to gather final data to find out causality,
In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [ is true
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[Question ID = 10238][Question Description = 115_0_GP20_SEP22_S2_Q15]
1. 1 [Option ID = 10949]
2. 2 [Option ID = 10950]
3. 3 [Option ID = 10951]
4. 4 [Option ID = 10952]

11)
The phenomenological interpretation in communication involves

1. Collective experience
2. Secondary experience
3. Personal experience
4, Indirect experience
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[Question ID = 10239][Question Description = 116_0_GP20_SEP22_S2_Q16]
1. 1 [Option ID = 10953]
2. 2 [Option ID = 10954]
3. 3 [Option ID = 10955]
4. 4 [Option ID = 10956]

12)
In communication, the test:of parsimony will have the element of

1. Logical simplicity

2. Complex validity

3. Susceptible generalisability
4, Abstraction
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[Question ID = 10240][Question Description = 117_0_GP20_SEP22_S2_Q17]
1. 1 [Option ID = 10957]
2. 2 [Option ID = 10958]
3. 3 [Option ID = 10959]
4. 4[Option ID = 10960]

13)
Which of the following are the key features of linear model of communication?

A, One-way communication

B. Manipulated feedback

C. Absence of noise

D. Used for mass communication

E. Sender-centric communication

Choose the correct answer fram the options given below;

1.4, Band Conly
2.8, Cand D only
3.D, Cand E only
4 A DandEonly
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[Question ID = 10241][Question Description = 118_0_GP20_SEP22_S2_Q18]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]
3. 3 [Option ID = 10963]
4. 4[Option ID = 10964]



14)
Given below are two statements

Statement I: Non-verbal signals are used to emphasize and support the verbal communication,
Statement II: Non-verbal signals are not a substitute for verbal communication,
In light of the above statements, thoose the correct answer from the options given below

. Both Statemient | and Statement Il are true
. Both Statement | and Statement Il are false
. Statement | is true but Statement Il is-false
. Statement | is false but Statement [l is true
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[Question ID = 10242][Question Description = 119_0_GP20_SEP22_52_Q19]
1. 1 [Option ID = 10965]
2. 2 [Option ID = 10966]
3. 3 [Option ID = 10967]
4. 4 [Option ID = 10968]

15)
Match List | with List 11
List 1 List Il
Discipline Focus of Communication Process

A, Anthropelogy |I. Metivation

B. Sociology Il. System

C. Psychology'  |lIl. Culture

D. Management |[IV. Society

Choese the correct answer from the options given belaw:

T.A-ILB=H,C=IV, B=|
ZA-NLBE-IV,C-1, D=1
BA-LB-IL,E= LBV
4A-IMB-LC-1,B=-1
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[Question ID = 10243][Question Description = 120_0_GP20_SEP22_S2_Q20]
1. 1 [Option ID = 10969]
2. 2 [Option ID = 10970]
3. 3 [Option ID = 10971]
4. 4 [Option ID = 10972]

16)
if ‘BEAUTIFUL is coded as "ADZTSHETK' in some coding scheme, then how will 'HANDSOME' be codad in
the same scheme?

.GBMETOLD
. GZMCRNLD
JZMCRPNF
IBMCTPNF

da W =

4§ 'BEAUTIFUL' I fovdil iyl gia-l H ‘ADZTSHETK @ ®U H deds jadl oidl & ol 34! aieHr §
'HANDSOME ] (&% tig Deas [Hal S ?

.GBMETOLD
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JBMCTPNF
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[Question ID = 10244][Question Description = 121_0_GP20_SEP22_S2_Q21]
1. 1 [Option ID = 10973]
2. 2 [Option ID = 10974]
3. 3 [Option ID = 10975]
4. 4[Option ID = 10976]

17)
The average of prime numbers between 1 and 20 is:

1.9.525
2.8.625
3.9.625
4.8525



131X 20 $ &ig Tod GoA1a{ @1 A6d a0 g 2

1.9.525
2,.B.625
3.8.625
4,8,525

[Question ID = 10245][Question Description = 122_0_GP20_SEP22_S2_Q22]
1. 1 [Option ID = 10977]
2. 2 [Option ID = 10978]
3. 3 [Option ID = 10979]
4. 4 [Option ID = 10980]

18)
if the selling price of 10 articles is equal to the cost price of 15 articles, what is the profit percentage?
1.50
2,40
3.45

4.33.35

% 10 TG 1 96T g 15 Tl & OFTe Ied & sl g o o s & g 2

1..50
2,40
3,45
4 3333

[Question ID = 10246][Question Description = 123_0_GP20_SEP22_S2_Q23]
1. 1 [Option ID = 10981]
2. 2 [Option ID = 10982]
3. 3 [Option ID = 10983]
4. 4 [Option ID = 10984]

19)
A certain sum of money en a certain annual rate of interest becomes T1008 in 2 years and 1164 in 3%

years. Find the sum and the annual rate of interest.

1.3 800, 12%
2:3875, 125%
3.3 850, 12%
4.3 800, 13%

q&:’ﬁ'{f%ﬁWﬁ!ﬂﬁﬁ@ﬁﬁﬁﬂimﬁmzﬁﬁmoswﬂigéaﬁﬁﬁm % 51 I & | T TR 3R
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1.800 %, 12%
2,875 %, 12.5%
3.850% 12%
4.800 %, 13%

[Question ID = 10247][Question Description = 124_0_GP20_SEP22_S2_Q24]



1 [Option ID = 10985]
2 [Option ID = 10986]
3 [Option ID = 10987]
4 [Option ID = 10988]

A wnN =

20)
Find the next term in the series given below

4,16, 8, 64, 12, 256, 16, 1024, 20,7

1.4096
2.24
3.320
4,4100

Fra g1 73 Ioft #f e gg SR ¢
4 16, 8, 64, 12, 256, 16, 1024, 20,7

71,4096
2,24
3,320
4,4700

[Question ID = 10248][Question Description = 125_0_GP20_SEP22_S2_Q25]
1. 1 [Option ID = 10989]
2. 2 [Option ID = 10990]
3. 3 [Option ID = 10991]
4. 4 [Option ID = 10992]

21)
if the statement, "All human beings are mortal’ is given as true, which of the following can be inferred

from it to be true?

.Some human beings are mortal.
. No mortals are non-human beings.
. Some non-mortals are human beings.

da W =

. Some non-human beings are not mortal.
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[Question ID = 10249][Question Description = 126_0_GP20_SEP22_S2_Q26]
1. 1 [Option ID = 10993]
2. 2 [Option ID = 10994]
3. 3 [Option ID = 10995]
4. 4 [Option ID = 10996]



22)
Match List | with List 11

List 1 List 1l

OBVERTEND OBVERSE

A AllSIsP . Seme S is nen-P
B.NeSisP Il. No S is non-P
C.SomeSisP Il All S is non-P
D.Some Sisnot P |IV. Some S is not non-P

Choase the correct answer from the options given belaw:

T.A-LB-NILE-IV,D-1
2ZA-ILB=ILC=1,D- 1V
LA-ILB=ILC=IV, B=]
4A-ILB-1LC-IV, D~
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T.A-LB-HLE-IV,D-1
ZA-ILB=-HLE=LD-IV
SA-ILB-ILC=INV, B=]
4 A-ILB-ILC-IV, D=

[Question ID = 10250][Question Description = 127_0_GP20_SEP22_S2_Q27]
1. 1 [Option ID = 10997]
2. 2 [Option ID = 10998]
3. 3 [Option ID = 10999]
4. 4 [Option ID = 11000]

23)
Which logical informal fallacy is committed in the following argument?

"The maths teacher said that there was to be no talking during the test. So it is fair that Chandni had
peints deducted for asking to go to the washroom because she felt sick”,

1. Appeal to force

2, Appeal to emuotion
3, Appeal to authority
4, Fallacy of acaident
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4, JUITY g QY

[Question ID = 10251][Question Description = 128_0_GP20_SEP22_S2_Q28]
1. 1 [Option ID = 11001]
2. 2 [Option ID = 11002]
3. 3 [Option ID = 11003]
4. 4 [Option ID = 11004]

24)
Which of the following statements are true regarding Nyaya logic?

A, Inference is from the universal to the particular only.

B. Inference is from the particular to the universal only.

C. Inference is from the particularto the particular only.

D. Inference is from the particular to the particularthrought the universal,
Choose the correct answer from the options given below,

1.D only
2. A anly
3. A and B anly
4.8 and D only

FRleiEs § ¥ &1 $Y= J/d ahud & a1 H Hel 6 7
A, HTAM baa 9 4§ Y aE s 8l

B. A Sad RN G oA @ sl gl
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1. &HEAD
2. FaEA
3, FHaA A AR B
4, FHaA B AR D

[Question ID = 10252][Question Description = 129_0_GP20_SEP22_S2_Q29]
1. 1 [Option ID = 11005]
2. 2 [Option ID = 11006]
3. 3 [Option ID = 11007]
4. 4 [Option ID = 11008]



25)
Which of the following inferences are based on causation according to Nyaya view of inference?

A, Inferring future rain from the dark clouds
B. Inferring past rain from the swift muddy water in the river
C. Inferring cloven hoofs of an animal by its herns

D. When we infer somebody's existence outside of his house since the persor is not concurrently present

in‘his-house
Choose the correct answer from the options given below;

1.4 and C only
2.Cand Donly
3.A and B only
4, B and Conly

3EM & §1 § U Y & SA9R FEEad € 9 619 9 SEF B10-9 R Y8 W SHia
A, ®Icl dieal | H1d] a8i 1 S Sl

B, a1 H godiHl Hias X e ¥ 197 @1 Y] @1 SFIHE @l

c. Torddt o] o =it ol X &1 SHA B

D. 98 5 [l it & IR & 916t SU®1 Aieid ol ®I AJ0H B4 & P Jg sdiod A9 9% 3 Gaga)
Y Y U T8l &

Jrafeu e ol g G oe S ;

1.FaA A HRC
2, FEACARD
3, HAAA FR B
4, FAAB AR C

[Question ID = 10253][Question Description = 130_0_GP20_SEP22_S2_Q30]
1. 1 [Option ID = 11009]
2. 2 [Option ID = 11010]
3. 3 [Option ID = 11011]
4. 4 [Option ID = 11012]

26)
Computers have evolved from the early mainframes to the relatively small smart devices with high

computing power used-today. Which of the following inventions contributed to reduce the physical size

of computers?

1. Vaccum tube

2. Integrated circuits
3. Registers

4, Solid state memory



FIE JRYE B0 J faead 819 8¢ o9 9= URee i aral 31 WIE SUE0 & Y & | Sed
% ifde woR @) veH & Feffaas 4 € 5 aidasr @1 aie & 7

1. 98 =9
2. THIPd IR9Y GRS Wibe)
3, Aoeex

4,319 Haw] Wi (FEs we J49iR)

[Question ID = 10254][Question Description = 131_0_GP20_SEP22_S2_Q31]
1. 1 [Option ID = 11013]
2. 2 [Option ID = 11014]
3. 3 [Option ID = 11015]
4. 4 [Option ID = 11016]

27)
Which of the following are broad functions of an Operating System in computers?

A, Handling of files and folders

B. Converting from high-level language to low-level language
C. Interfacing between user and hardware

D. Helping te run application scftware

Choose the correct answer from the options given below,

1.4, Cand Donly
2.B, Cand D only
3. A and Canly
4 A B CandD

Fugedl A Pafafas & 4 8 3 v=es uu (SR e s A iR wed 7
A BEA AR WIS @ 9HEAT

B. T T YTHT & g TG YIaT | Siewy)

C. JIGd1 d 5Taddx & 99 3eibd

D. FER HiTeagR 9o H Geigd] ol
i fou e fadedi 3§ 4 98l I 9

1. WAAA,C3RD
2, FHaE B, C AR D
3, FAAAARC
448 CIHRD

[Question ID = 10255][Question Description = 132_0_GP20_SEP22_S2_Q32]
1. 1 [Option ID = 11017]
2. 2 [Option ID = 11018]
3. 3 [Option ID = 11019]
4. 4 [Option ID = 11020]



28)
Given below are two statements

Statement I: The contents of most forms of RAM are volatile, thus making them unsuitable for long term

data storage.
Statement II: Hard disk has faster access of data in comparison to RAM as'well as processor registers.
In light of the above statements, thoose the correct answer from the options given belew

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM —-

. Statement | is false but Statement [l is true

EIERREAIC AT -
FY - | - AR U TH T ST G P fqde Aue & 3 7 Soiee S YR & [ eguga 8
iG]

DY - 1| HR T TH AR IR el & gorl H ols (5% 31 SI2l o® Ued H4® uid &
ITad BYA & HIE® & FEiead [ahedl 3 4 Ual St g ;

1.0 | 3R 11 G T g

2, @Y1 3R 1 GHl 3EE B

3, @Y1 9d ¢, foo YA 1| A B
4,5y | HA T, g e T Bl

[Question ID = 10256][Question Description = 133_0_GP20_SEP22_S2_Q33]
1. 1 [Option ID = 11021]
2. 2 [Option ID = 11022]
3. 3 [Option ID = 11023]
4. 4 [Option ID = 11024]

29)
Which of the following statements is/are correct?

A, Digital governance has been legalized by the IT Act {2000) in India.

B. IT Act is a watershed in conceptualizing administrative reforms in India,
C. Digital governance is a boon in curbing bureaucratic red-tapism.
Choose the correct answer from the options given below,

1.8 and C only
2.B only

3,A and Conly
4 A Band C



FaftiEd 4 4 o1 4 $y 581 & 7

A, a1 Weifie] SHEHEH, 2000 SR HIRA 5 (Shica e @ [Gfgarg o el ™ el
8. 315 & s YRe & Wefie guRl & 9yadiE & 99y F s@fie Teegd 2
c. feforea ome Fieane- ara-BiaEne) & FaHe & d te@ HaH gl

Fra fou 7 apedl § S OR S ;

1. PAAB AR C
2, FHAAB

3, FAAAARC
4, FEAA BHARC

[Question ID = 10257][Question Description = 134_0_GP20_SEP22_S2_Q34]

1. 1 [Option ID = 11025]
2. 2 [Option ID = 11026]
3. 3 [Option ID = 11027]
4. 4 [Option ID = 11028]

30)

Match List | with List 11

List | List Il

Ethical Issue in Information Technology o
Description

|. Responsibility of data collector to ensure

A, Privacy accuracy

Il. Responsibility of data collector to control
B, Accuracy

access
C. Property Ill. Collection and use of data about individuals
0. Accesibility V. Data ownership and Seftware Usage Rights

Choase the correct answer frem the options given below:

T.A-ILB-LE-IV,D-1
ZA-IVB=LE-1,B=
BA-LB-HLE-1L BV
4A-ILB-LE-ILD-IV




Tl - @ G -1 | gAfd B ;

ol -l =1 -1l
1;1?1 PIEREA| ﬁﬁﬁt‘cﬁﬁ
1. UGl GHiEd o3 @ [/ S1el Sdgddl @
IBEE h
I Il e ot e | Se 99sddl @0
08 ML
C. gugl 111, Sfal & SeY H ST 9980 3R W
D, ST v, STET SaiThd IR SiEdg Uai & HiEeR
+rd feu e famedl &4 W S g

T.A-ILBE-LE-IV, D=1l
ZA-INMB-LCE-1LDB=1
BA-LB-HLC-1LD-1V
4A-NB-LC-I,D- IV

[Question ID = 10258][Question Description = 135_0_GP20_SEP22_S2_Q35]
1. 1 [Option ID = 11029]
2. 2 [Option ID = 11030]
3. 3 [Option ID = 11031]
4. 4 [Option ID = 11032]

31)
The substance that slows down the neutrons to have controlled chain reaction during nuclear energy
production is‘called as

. Controller
.Inhibitor
. Moderator

45 WM =

. Reducer

TYSG Fe| S@IG & SR UG SEe uiakea & e g2 o 99 o a1 ge @f FefafEa 4 3
FN eI AT & 7

1. P @Em)
2, HEF (G
3, HE® (HISE)
4, FHPRS (RETHR)

[Question ID = 10259][Question Description = 136_0_GP20_SEP22_S2_Q36]
1. 1 [Option ID = 11033]
2. 2 [Option ID = 11034]
3. 3 [Option ID = 11035]
4. 4 [Option ID = 11036]



32)
Which of the following pollutants is considered as surrogate for eye irritation?

1. Nitrogen dioxide
2. Sulphur dioxide
3, Carbon monoxide
4, Czone

e rgme el A 9o o TR IRFMgeEe e SU A AT S| 6 2

1?@?@?@%&‘@3@
2, TR SEsaaEs
3, HE- GHIGES

4, HFA

[Question ID = 10260][Question Description = 137_0_GP20_SEP22_S2_Q37]
1. 1 [Option ID = 11037]
2. 2 [Option ID = 11038]
3. 3 [Option ID = 11039]
4. 4 [Option ID = 11040]

33)
Given below are two statements

Statement I: Pesticides such as DDT are particularly disruptive to foed chains,
Statement lI: Pesticides are very persistent and soluble in water.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct

J el @y QUi g P @ @A (A) 3N g6 & SRYI (R) &8 M6l
HRHEY (A) : 213121, S Plew® (339 B4 4 WY SEa | [Gwcd eid 8l

BN (R) ;: BIEATES AAfE o SR o 3 go-=iie eid &

Iulad BYA! & HdID H FHldd faded! d 9 el IR 94
1. (A) 3R (R) ST H1 & 3R (R), (A) BT WE ARAT T
2.(A) 3R (R) GFI F81 & U (R), (A) B ol oIS e o

3. (A) T8l & IR (R) Tl 981 5
4, (A) HE1 81 & U (R) WRl &

[Question ID = 10261][Question Description = 138_0_GP20_SEP22_S2_Q38]
1. 1 [Option ID = 11041]
2. 2 [Option ID = 11042]
3. 3 [Option ID = 11043]
4. 4 [Option ID = 11044]



34)
Given below are two statements

Statement |: Global warming could lead to increased release of the greenhouse gas, Methane.

Statement lI: There is a large amount of Methane currently frozen in the permafrost in the far northern
regions of the world.

In light of the above statements, thoose the most appropriate ariswer from the opticns given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
. Statement | is correct but Statement |l is incorrect

J5 WM —-

. Statement | is incorrect but Statement || is carrect

T o RUTEE: ol 3ftme () 3R g @1 HRU (R) Tl T &
Y (A) : IS A0 (aiEd aa) ¥ dHersw 719, HidH @1 #fie IweH g 9edl gl
@R (R) : GoAF 5 9% © Yol il &) & = guR HiF 5 #1d9 Y- 7@ 5 o1l 55 o
ST B! & HTED J FHidd [ H 9 g1 I 9 -

1..(A) IR (R) T TE1E 3R (R), (A) P Hel ST B
2.(A) 3R (R) GHT G861 & U3 (R), (A) B Hal oI1aT Ta) o
3. (A) WBl € R (R) Hel el 8|

4, (A) HEI 761 & UG (R) HEI 81

[Question ID = 10262][Question Description = 139_0_GP20_SEP22_S2_Q39]
1. 1 [Option ID = 11045]
2. 2 [Option ID = 11046]
3. 3 [Option ID = 11047]
4. 4 [Option ID = 11048]

35)
Given below are two statements

Statement I: Biodiesel can reduce Sulphur emissions significantly in comparison to gascline,
Statement lI: Energy density of biodiesel is much less than that of ethanol.
In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true



@Y - | : S1G1SIHd, THIE D1 qo-l H GedhR & Jcdai § it ¥4 4 | o 9ol g

BY - || - SAISTT @ SHF 9 gUHd 3] qol & 95 @9 el £
Sulad wYH & Haie 4 FRfiad el 3 9 9el 3w 91 -

1.0 | 3R 1 GHI ST 8

2. WY | 3R 1 GF AT B

3. @Y1 T ¢, feg @y 1 3Ea Bl
4, Y| HEd g, g oY | TE B

[Question ID = 10263][Question Description = 140_0_GP20_SEP22_S2_Q40]
1. 1 [Option ID = 11049]
2. 2 [Option ID = 11050]
3. 3 [Option ID = 11051]
4. 4 [Option ID = 11052]

36)
The National Education Policy, 2020 envisages that all higher education institutions will be incentivized,

supported and mentored and shall aim to become autonomous; and have an empowered Board of

Governors by the year

1,2025
2,2030
3,2035
42040

P TRiE i 2020 @1 GUR © T Wl S e SR 9 e, §AUE SR e s e
e, R d Ol W &4 @1 989 Wi, AR FofofEs od 9 te g ol 918 @ eieh) @ Ted
Gaaf

B S o T LN T

[Question ID = 10264][Question Description = 141_0_GP20_SEP22_S2_Q41]
1. 1 [Option ID = 11053]
2. 2 [Option ID = 11054]
3. 3 [Option ID = 11055]
4. 4 [Option ID = 11056]

37)
Who among the following was the Chairperson of the Committe setup by the National Council for

Women Education in 1962 to examine the differentitation of curriculum for boys-and girls at all stages of

education?

1. Bhaktavaisalam

2, Hansa Mehta

3. Durgabai Deshmukh
4, Margaret Cousins



Prafea & 9 i wfeen fe oftws &r1 1962 3 Fges @1 718 98 9T 1 s o o, B Ria e
Tl =0l F o] SR geiadl @1 Uleaad] & [dUad B |9 S © 08 el E 4l ?

1. HaddedcH
2. garged

3. 57111 orEE
4, AT Bfeg

[Question ID = 10265][Question Description = 142_0_GP20_SEP22_S2_Q42]
1. 1 [Option ID = 11057]
2. 2 [Option ID = 11058]
3. 3 [Option ID = 11059]
4. 4 [Option ID = 11060]

38)
The expenditure on the research and innovation in India, at present, isonly % of GDP.

1..0.20%
2.0.69%
3.131%
4,.274%

oA o URd & HHYH AR F99R W aH 910 o e g sdG @1 aF_ uSa gl

1.0.20%
2,0.69%
3.131%
4,2.714%

[Question ID = 10266][Question Description = 143_0_GP20_SEP22_S2_Q43]
1. 1 [Option ID = 11061]
2. 2 [Option ID = 11062]
3. 3 [Option ID = 11063]
4. 4 [Option ID = 11064]

39)
Given below are two statements

Statement I: To address inter-state variations at all levels of Educatien, it was brought on to the

Concurrent list in the Constitution in 1976,
Statement II: The institutions approved under State Legislative Act are not empowered to award degrees.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true



FYF - | ; 3151 & 9] W e (e @ 86 o0 & fog e &1 1976 ¥ €199 &1 9944
gl H |

B - 1| ; T [GUTH SHFRIFTE & i SIETGd ST @1 gureal (531 & @ wifed g a1 |
Iuad Yl & Heid 4 FEiiad el 3 ¥ gl 9 91 -

1.0 | R 1 GH g 8

2. WY | 3R 1 G AT B

3. Y | 9 ¢, oo oY || ST B
4,9y HEG B, g oy I va Bl

[Question ID = 10267][Question Description = 144_0_GP20_SEP22_S2_Q44]
1. 1 [Option ID = 11065]
2. 2 [Option ID = 11066]
3. 3 [Option ID = 11067]
4. 4 [Option ID = 11068]

40)
Match List | with List 11

List 1 List 1l

Educational Agencies (Acronyms) Educational Domains
A, NIOS I. Teacher Education

B, NCTE Il. Technical Education
C. AICTE Ill. Vocational Education
D. NCVET IV. Distance Education

Choase the correct answer frem the options given below:

T.A-IM,B=L,C-1LB=N
Zoh =B E= LB Y
BRA-IB=ULC=IV, B=]
4A-ILBE-MC-LD-1

T - @ G -1 W A B ;

CE Il

A, TF.3005 31 00, | 3SZTa FREm

B EAHAS. I1. THTD] &1
C.URAIEs. (11, ST fRiam
D EAAIA IV, Gy e

4 fgu e fawedl # ¥ 9d S ghu:

T.A-IMB=-LC-1LB=
ZA-LB-1LE=L D=V
LA-ILB-ILC=IV, B=]
4 A-ILB-IV,C-1,D-1l

[Question ID = 10268][Question Description = 145_0_GP20_SEP22_S2_Q45]



A wnN =

1 [Option ID = 11069]
2 [Option ID = 11070]
3 [Option ID = 11071]
4 [Option ID = 11072]

Topic:- 13_GP_SH1_Set2_C

1) Scholars refer to the western perception of Third Werld societies. They discuss the same when raising the

guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in micst feminist literature
on development as having ' needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories: It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which te measure the situation of Third Werld women,

The result is'paternalistic attitude on the part of western waomen toward their Third Werld counterparts, It is
perpetuation of the hegemonic idea of west's superiority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third Werld, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of

interpretation.
The Western feminist literature depicts Third World women as having

1. Fewer choices and no freedom

2. Greater support fromy external influences
3, Benefits of modernisation

4, Become amenable to western influence

o S didl giHa1 & 9HSi & OS] Ue @ 3R Yod $ed 61 WE d U8 UY J8N § [ aredl -l @
ol <& 59 @1 goH 1 &4l 8, 91 4 391 ®f 991 Bid 8| U6 YR [GgH § B 3 8 (% faerg JdHt
sty TRtae] e | JeRl R @1 gl #1 aEweat R T T & FY § TR [ O 8
TR Fo% U 95 & [ B1d & AR 3 ©37 $1 Bis Wodl 7ol gl | 39 UoR &1 9% f&feEt @
diodl g @ Te S 91 @1 8id SRl & o T gifere! SR sioug 4/l @ uam & aread 9 @
T Bl 81 Sl T & b Al g @1 v Sl o S o W snufiE SR et g aAfig, P
SRifea, gremwrelt @ €4, g, uERE SR 0ifsd 80 & eru Afas: @ $i5d Sied adid @l o
Tg ©id ufEHl |l & [idd, AryE SR o0 Fu Wl &Y 91 Waad) W4 & @-1990 4 fagdid g1 4
TE HeU Y & [ UEH AFE d 59 0w & fod dredl g @1 el @ [Rfa &t o e s5e
gieons & igs gl o diedl gl o gl @ uld [Wgaarers bl | s 9igs @ 38d1 & WU f9ar &
Gaiee gl el gl H Bl & 3diisd & GREUIeu SR saawIed $I 341 uiseul |, ey uiiE
Trétare] famel 7 grick o1 whr 61 <kl o1 54 Jidd @ oI &1 HuH| [AEgHE UEi & ®RY g giyiEa
U H @1 sravg@dl g

uiEHl AREE] wiied died g o Rl @ Faiiaa J ¥ deEud Rba e e e

1./ g FH e & IR B Woga Tel o
2. 91 Byl § geaR 95

3. SMYFDIP B Wgaud

4. OiEE yyE & A

[Question ID = 10269][Question Description = 146_0_GP20_SEP22_S2_Q46]

1.

1 [Option ID = 11073]

2. 2 [Option ID = 11074]
3. 3 [Option ID = 11075]



4. 4 [Option ID = 11076]

2) Scholars refer to-the western perception of Third Werld societies. They discuss the same when raising the

guestions of who produces knowledge about Third World women.

An Indian scholar has discovered that women in the Third World are represented in micst feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It s said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domaestic, family oriented and victimised. This is in contrast to the self-representation of wastern women as
educated, modern with freedom to make their own decisions. These representations -assume western
standards as the benchmark against which ta measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third World counterparts. ttis
perpetuation of the hegemonic idea of west's superiornity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of

interpretation.
The Third World wemen have an image constructed through the parameters of

1. Compassionate representation

2. Quantification and categorisation
3. Geographical proximation

4. Familial issues

fagm o3 T8 g1 & TarSil & afE e &1 R Udd $d ol WE d U8 UY I8N § [ o gl &
gt it 97 &1 goH @15 $dl 5, 91 d 391 31 99l B ol b YR fagH - Eie @ ¢ fo fawrg ded
TR ANl Sifed & Il ghar @ fodl @1 - EEdat S 9 76 & w9 8 UEd (69 9Tl 8
TR 5 UTY 950 &4 fa@ed 61d & A o1l B & Bl Wodl Tel einl | 39 oK & 9z [fm g
e g1 @ TP i 91 @ Bid 3! o forge] TaH gilede] 3R ®igag Al & ugiE & 5rEd d @
7S Bl 81 el 9] & I dies] i @ e frad i S0 o ur i SR el g ey, Fd,
i, oemwrstt € 94, oy, ufERraEt SR 9fsd 85 & ©RU sHada: TF Siad digd Idid &<dl 8
ge Sia gl |l & e, AYHE R 2qgH Fg W B @) WAl 6L o w-19a0 4 auda g g e
Tg HeO B & [ UiEH AEE 4 e fos § e ddt of & fadt o fRufe @t Ao s sme
gieoy & ofied) ol @ 3t gl @1 Rl & ufa fgaoers eifiai | 98 ufgm &1 38a1 & ma= fqaR @
oo ol ol g I Rl & 3diisd & Unedie R SaweT &1 34 Ut 3, aiftreter ufied
Trétare] faue § gifad &1 WEr g1 9 21 39 9ifdd &) sred 31 U] uahE uefa % SR gF: uieiig
T o1 @1 sfavg®dl &l

i o o e ) T ot AT & g P B B

1. G HIaE femm

2. ORATH AR Y@
3, Yo |EE

4 WD T8,

[Question ID = 10270][Question Description = 147_0_GP20_SEP22_S2_Q47]
1. 1 [Option ID = 11077]
2. 2 [Option ID = 11078]
3. 3 [Option ID = 11079]
4. 4 [Option ID = 11080]




3) Scholars refer to-the western perception of Third Werld societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third Werld are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs io be redefined, because of its subjective nature of
interpretation.

The western women cansider themsealves as

1. Savicurs of oppressed women

2. Agents of homogenisation

3. Modem and free

4, Equally exploited like Third World women

faem 5 T g & TEel & UigHl T #1 3R U9 &3 6| 919 d 98 UY 961 © 1 aresl gl @l
ot et 59 @1 9o 11 o4l &, 91 4 391 @ 99 B 8| U HRGHE [agF - B9 3 & (% faeg gddt
HIYDI ARIGIG] Hied H aiesl gHdl @1 1941 @] Hahedid R HHE 36 & Y H YRqd (@] w6
TR Forie UIe 95 & [P el 81d & AR i ©3- @1 Bis oadl 7ol sl | 39 UOR &1 [aRaavl fafeEf 4
Al 5T @1 Te S Ul @1 Bid U 6 ford@] TaHl il | AR Hiadd SioEl & Wai & JreH o Bl
TE B 21 weT T & b A o 3 O e ) i TR oY ansfed iR el o ey, B
ifrferd, oregwrett € 44, g, ufaRaE R 9fsa 811 & SR sHada: @ $i5a Hie @did sl B
Te Biq 9§l @ [Riem, AYE AN T Mg WY B3 ©) Woaal 184 & W40 § [agdd g 4
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gieony & ofief) fat @ 3ed gl @1 ot @ ufs figoaere efigi | 98 ufim & 3gaT & mu= fagr &
Tadee ol ael g1 H Bl & 3died & UERUie SR SEaweT &1 4wt 3, fftrerer ofde
iarc] faHRl H Fidd @1 Jar [hg1 @il o 59 Jidd @ IR &1 -1 [A9a-E el & ®RYl OF: 9RHiEa
U o @1 sawg®dl g

iyl afge 0 AU 1 3E FUE El 6

1, SifST Afg & SGRE
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[Question ID = 10271][Question Description = 148_0_GP20_SEP22_S2_Q48]
1. 1 [Option ID = 11081]
2. 2 [Option ID = 11082]
3. 3 [Option ID = 11083]
4. 4[Option ID = 11084]



4) Scholars refer 1o the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third Werld are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs io be redefined, because of its subjective nature of
interpretation.

The western feminist literature looks at Third World women with

1. In-depth knowledge of their issues
2.An urge ta liberate them

3. The need 1o enforce universal values
4, Western standards as real benchmarks
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5) Scholars refer to the western perception of Third Werld societies, They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women ini the Third World are represented in most feminist literature
on development as having * needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes ef analysis is the image of an average Third World woman censtructed through the use of
statistics and ceitain categories: It is said that an average Third Werld woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third World counterparts, It is
perpetuation ef the hegemonic idea of west's supeniority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of
interpretation.

The passage Is critical of

1, The submissive Third Warld women

2. Maodernised western women

3, Hegemonic ideas of western superiority
4, Homogenisation of feminist discourse
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